Rugby Union Project Answers

Question 1:
Answer: Although these distribution graphs are useful (especially the third one), we can’t truly make a factually based assumption about who would win, but we can guess by looking at this third density graph. Based on the observation that South Africa is more likely to score ~ 22 + points against Wales and has a tail which is more gradual, we can assume that South Africa has historically scored higher points against Wales than Wales did. So, we can assume that South Africa will most likely win match up against each other.
Question 2: 
Answer: Yes. Combining all the visuals so far, we can again say with confidence that South Africa is the more likely winner in this matchup. The point differential distribution clearly leans to the right of 0, meaning there have been more games where South Africa has outscored Wales. While there are a few matches on the left side of 0 (Wales wins), they’re not only fewer in number but also tend to be by smaller margins. This adds further support to what we saw in the density graphs — that South Africa has generally had the edge when these two teams have played.
Question 3:
Answer: 
· The point to the far top right, SA 96 – Wales 13. This point is an outlier of a game with a huge point difference and a huge match score. This applies to our thinking that points far above or below the 0 on the vertical represent games that are largely one sided. 
· The point to far right very close to the 0 horizontally, Wales 36 – SA 38. This point represents another important aspect of our graph. Not only does it show that it was a large scoring game by being far right on the graph, but by being almost on the 0 horizontally, it is also a very close game. In theory this should be a very entertaining match because it was such a large scoring game and was very close!




